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K!(ﬁ) $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2
$6] 0.2 | $0.2 | $0.2 | $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | 0.2 [ $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2
% $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 $04 | S04 | $04 | S04 | S04
K] 502 | 502 | $0.2 | $0.2 [ $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $O.2 $04 | S04 | S04 | S04 | S04
Hil'-"-ll[,\ $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.2 $0.4 $04 | $0.4
#fg| s0.2 | $0.2 | $0.2 | s0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 $0.4
M $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.2 $0.4
ﬁ[ﬁ'ﬁ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2
’fﬂ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 $0.1 $0.1 $0.2
i $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $O.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | S0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 $0.1 $0.1 $0.1
Edwl $0.2 | $0.2 | 0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $S0.2 | $0.2 | $0.2 | $0.2
#Eﬁ $0.2 [ $0.2 | $0.2 | $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 [ $0.2 | $0.2 | $0.2
i $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $S0.2 | $0.2 | $0.2 | $0.2
ﬁﬁ $0.2 [ $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2
}:.%4 $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.9
3 Rt $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 ] $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.9 | $0.2 | $0.9 | $0.9 $04 | $0.4
$0.1 $0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | s0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.9 | $0.9 [ $0.9 | $0.9 | $0.9 504 | S04 | $04 | S04 $0.4
$0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.9 [ $0.2 | $0.9 | $0.9 | $0.9 | $0.9 | $0.9 | $1.4 $0.4 | $04 | $04 | $0.4 | S04 | S04 $04 | $0.4
$0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $S0.2 | $0.2 | $0.2 | $0.2
$0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2
$0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $O.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | 0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | S0.2
$0.4 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.2 [ $0.2 | $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | S0.2 | $S0.2 | $S0.2 | $0.2 | $0.2 | $S0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.2 | 0.2
$0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 ] $0.1 [$0.2 | $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2
$0.2 | $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $SO.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 [$0.2 | $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 $0.1 $0.1 $0.1 $0.2
$0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.1 $0.2 [ $0.2 | $0.2 |$0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 $0.1 $0.1 $0.1
$0.2 | $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $SO.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 [$0.1 | S0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2
$0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 [$0.1 | $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | $0.2 | $0.2
$0.4 $0.2 [ $0.2 [ $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.9 | $0.2 | $0.2 | SO.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 [$0.2 | S0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.1 $0.2 | $0.2 | $0.2 | $0.2
$0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 [$0.1 | $0.1 $0.1 $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2
$0.4 $0.2 [ $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.9 | $0.2 | $0.2 | SO.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2
$04 | $0.4 $04 | $04 | S04 $04 | $0.4 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 [ $0.9 | $0.9 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 [$0.1 | $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2
$0.3 504 | sS04 | S04 $04 | $04 | $0.4 | $0.4 $04 | S04 | S04 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.9 | $0.9 | $0.9 | $0.2 | $S0.2 | $S0.2 | $0.2 | $S0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 | 0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2
$04 | $0.4 $04 | $04 | S04 $04 | $0.4 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 [ $0.9 | $0.9 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2
$0.3 504 | sS04 | S04 $04 | $04 | $0.4 | $0.4 $04 | S04 | S04 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.9 | $0.9 | $0.9 | $0.2 | $S0.2 | $S0.2 | $0.2 | $S0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $0.2
$0.3 | $0.3 $0.3 $0.8 | sS04 | S04 $04 [ S04 | S04 | S04 [ S04 $04 [ S04 | S04 | S04 [ S04 $0.2 [ $0.2 [ $02 [ $0.2 [ $0.9 | $0.9 | $0.9 | $1.4 | $0.2 | $0.2 | $0.2 | $S0.2 | $S0.2 [ $0.2 [ S0.2 | $S0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 | $0.2 | $0.2 | $0.2 | $S0.9
$0.3 $0.1 $0.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1
BE'EI $0.. $0.3 | $0.3 $0.3 $0.4 $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.2 | 0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1
?Eﬁl $0.3 [ $03 | $0.3 $0.3 $0.4 $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1
5A K| 503 [ 503 | $03 | 0.3 $0.3 | $0.3 $04 | $0.4 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 | $0.1 $0.1
$03 [ $03 [ $03 | $03 | $0.3 | $03 | $0.3 $0.3 $04 | $04 | S04 $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.1 | $0.1
$03 [ $03 [ $03 [ $03 | $0.3 | $0.3 | $0.3 $0.3 504 | S04 | S04 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $SO.1 $0.2 | $0.1 $0.1 $0.1 $0.1 $0.1 $0.1
$03 [ $03 | s0.3 $0.3 | $0.3 $04 | $0.4 $0.2 [ $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $O.1 $0.1 $0.2 | 0.1 $0.1 $0.1 $0.1 $0.1 $0.1
$0.1 $0.1 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 $0.1 $0.1
$0.1 $0.1 $0.1 $0.1 $0.2 | 0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 $0.1
5 $0.3 $0.1 $0.1 $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 [ $0.2 | $0.2 | $0.2
$03 | $0.3 $0.3 $0.4 $0.2 | $0.1 $0.1 $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | S0.2 | $0.2 $0.1
$03 [ $03 | s0.3 $0.3 | $0.3 $0.4 | $0.4 $0.2 | $0.2 | 0.1 $0.2 [ $0.2 | $0.2 [ $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.2 | $0.9 $0.1 $0.1
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